


=L 1
Ol't

y = —2x2 O] TR Zo] WA Ae] x5 7} HES

ol
BN



3.

ohg 22 o] o] 447t A (a, 10) & A
o, a o] 3 Fotofet (Ha>0)

=3
=

[NG) I



0] I FO)A y = —éxQﬂx o toted A= djdal
729

@ y=6x> ® y =242
1 1
@yzéx2 @y:—gx2






of 2457}

]
=1

1ol y F30] @

ke

o] x=-10°]1, x F| %

@ y=-2(x-1)2

@y

@ y=-2(x+1)2

®y

2(x—1)?

2(x+1)?

=-x?-2

®y



o125 y = (x—1)2 -2 &) T L&} x Zo thsto] T2
109

o] TEA 0]

~

S
—

d

@ y=(x-1)2+2 @ y=(x+1)"+2

@yZ(X—1)2—2 @y:—(x+1)2+2

©® y=-(x-1)>+2



& Fy= -2 - dx O D ZI} kA o AHRELR?

O Al 1 AHEHA @ Al 2 AHEH ® Al 3 AREH

@ Al 4 AHEH ® 944



9. OlAFRFy = ~3a2 + kr + 7 9 TRZeA x 9] Fho] F7HSHA y
= F74H x O] o] W97k x <4 L W, k O ghE Fotoler,

D S
=%



Fy=22-4dx+3Ty=x*+ax+b 9
o, a+b 9 F

ol 2Hg
o]
=

10.

Stofzt.

q_

O
=

k13
=

A]



=
o

op

=

’

o of

2~
ne

St
jm=

k(k +3)x% 4 2x% = 2x + k ol A x of] T o2}

A% k ©] grol

y:

11.

© 2 ®© 3

@1




+q 9 TRET} okehel DT 22 0,
a. p. q 9| HEE BE5E AFSote] 22t ehfeleh

[t
[\
o)
>
o
=
~
|
2
=
+
<
]

y}l

v



yl
N

3

@
Y
O T
®
Y
0
T
®
y

}_

]
e



14.

o

i}

Ay =22 —dx+2 o JLE x FWFLR p TE, y 52
GO ¢ WrE FHolssAdY A (3, —4), (0, 11)= A%
p+q o &< Fskefet

R Eip+q=

o



= o 9

Lol H3HE A, x F3H] wHS
7Yzt B, C 2tal & wj, AABC 9] Heol& +
stofzt.




